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I: Fill In The Blanks:          

1). 6 + 8 = 14  6). 18 + 21  = 39  

2). 9 +1 =10  7). 40 +10   = 50 

3). 33 + 24 = 57       8). 10 + 10 = 20 

4). 8 + 4 = 12     9). 8 + 8 = 16 

5).  17 + 20 = 37  10). 70 + 00 = 70  

   6). 40 + 10 =  

IIa): Add the Following          

1). T U   2). T               U 3) T               U 4)   T               U 

      4            3        3   6             6           2       5   4 

+    2   2   +   2                 1         + 0           1    + 3 2 

6 5                 5  7      6           3        8  6 

          

5). H T U 6). H T      U    7). H   T  U  8). H   T  U 

     6            4           1      9 7      3       5 4 3      7       3         9  

 +   1  2 1 +   0     1      2  +   2  4  2   + 2    1 0 

7 6 2      9 8      5       7 8 5      9   4 9 

 

III: Expand and Add:           

1). 36 + 26                           2). 80 +10 

30 + 6 + 20 + 6     80 + 0 +10 +0  

30 + 20 + 6 + 6      80 + 10 + 0 + 0 

50 + 12      90 + 0 

62       90   

3). 53 + 60                           4). 42 + 36 

50 + 3 + 60 + 0     40 + 2+30 +6  

50 + 60 + 3 + 0      40 + 30 + 2 + 6 

110 + 3      70 + 8 

113        78 

 



IV: Solve The Following:          

1. Ashok has 266 roses in his garden and Nishita has 314 roses in her garden. Totally how many roses 

are there? 

Roses in Ashok’s garden  = 2  6  6  

Roses in Nishita’s garden  = 3  1  4 

Total no of Roses are   = 5   8   0 

 

2. There are 116 passengers in coach number C – 1 and 130 passengers in coach number C – 3. What 

is the total number of passengers travelling in two coaches? 

Passenger’s in Coach C-1     =  1 1 6 

Passenger’s in Coach C-3     = 1 3 0 

Total No. of passenger’s travelling  = 2 4 6  

 

3. A farmer has grown 264 bunches of bananas in the plantation last year and this year 123 bunches 

of bananas. What is total number of bunches of bananas grown by the farmer? 

Bunches of bananas grown last year =  2 6 4 

Bunches of bananas grown this year =  1  2 3 

Total bunches of bananas grown  =   3 8 7 

V: Subtract the following:         

1. 38 – 24 = 14 

2. 86 – 55 = 31 

3. 43 – 21 = 22 

4. 66 – 02 = 64 

5. 75 – 33 = 42 

6. 86 – 11 = 75 

7. 27 – 25 = 02 

8. 63 – 22 = 41 

 

 

VI: Subtract the following using place value table.       

1). 888 – 525  2) 750 – 700  3). 654 – 343  4). 561 – 440 

H T U H T      U     H   T  U   H   T  U 

 8       8        8     7 5    0       6 5 4      5       6         1                        

-  5   2 5 -   7     0     0  -   3  4  3   - 4    4 0 

7 6 2      9 8      5       3 1 1     1  2 1 



VII: Find estimated sum for the following:       

1). 62 and 23 = 60 + 20 = 80 

2). 29 and 47 = 30 + 50 = 80 

3). 71 and 15 = 70 + 20 = 90 

4). 33 and 24 = 30 + 20 = 50 

5). 77 and 11 = 80 + 10 = 90 

6). 41 and 22 = 40 + 60 = 60 

 

VIII: Subtract the following by carrying over       

1) H    T U      2) H   T U     3) H   T U 4)  H    T     U 

 8     6    5          7    8    5                     4    3    2               5     7      3 

     -  2     7    7        - 2    2    8                   - 3   2    4             - 4     5      6 

5     8    8           5    5    7  1     0   8       1     1     7 

 

IX: Solve the subtraction word problem sums       

1. Vikas is reading a novel containing 325 pages. He already finished reading 224 pages. How many 

more pages still he has to read. 

No. of pages in the novel   = 3 2 5 

No. of pages Vikas reads    = 2 2 4 

No of pages he needs to read = 1 0 1 

 

2. Ramya scored 386 and Somya scored 491 in 7
th

 std annual exam. What is the difference in their 

 score? 

Marks scored by Soumya   = 4 9 1 

Marks scored by Ramya  =  3 8 6 

Ramya scored less marks by  =  1 0 5 

3. Rakshita has ₹ 265 and Ashok has ₹ 134. Who has more money and by how much? 

Rakshita has   = ₹ 265 

Ashok has     =     ₹ 134 

Rakshita has more money by  =  ₹ 131 


